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C. S. (MAIN) EXAM, 2009

sl.No. 206 C-DTN-J-DFA
CIVIL ENGINEERING

Paper—I

Time Allowed : Three Hours Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued to
you, which must be stated clearly on the cover
of the answer-book in the space provided for
the purpose. No marks will be given for the
answers written in a medium other than that
specified in the Admission Certificate.

Candidates should attempt Question Nos. 1
and § which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

The number of marks carried by each question
is indicated at the end of the question.

Notations/terms wused have their usual
meanings, unless otherwise indicated.

If any data is considered insufficient, assume
suitable value and indicate the same clearly.
Newton may be converted to kg using the
equality 1 kilonewton (1 kN) = 100 kg, if found
necessary.
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Section—A

1. Attempt any five of the following :

fa) A smooth right circular cylinder of
radius 0-5 m rests on a horizontal plane
and is kept from rolling by an inclined
string AC of length 1:0 m. A prismatic
bar of length 1':5 m and weight 125 N is
hinged at point A and leans against the
cylinder as shown in the figure below.
Find the tension S that will be induced

in the string AC. 12

-

(b) A composite beam of cross-sectional
dimensions is shown in the figure
below. The upper 150 mm x 250 mm
part is concrete, E. =20 kN/mm? and
the lower 150 mm x 10 mm part is strap
steel, E., =200 kN/mm?. Locate the
centroid and calculate the second
moment of area about the horizontal
centroidal axis of the composite section. 12

150 mm
e

A

250 mm
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1. F=fafaa 9 9 sl ara & I 2

(%) s Fown o= gl faaver, fmd B
0O-5m 2, Us &fasd 92 9 W g I 34
1:0 m & =13 $l 3 St AC & 30 g 4§
UhT AT 81 1°5m &= 9 125 N 91 41l
frsfta s, faa 4 REld sgar fag A W ==
q g 2 R facver w ot 21 = AC & Af@
T S F1d B 12

-

A

A
(@) = G93% 9@ H ai=ad faund fam § g o
g1 Fgh 150 mm x 250 mm  f&&,
E. =20 kN/mm? at @@z &1 a1 & 3%

150 mm x 10 mm dren F=en e gz
T w1 8, e E_ =200 kN/mm? 2|
FaF Uit = AR Ggw diede & afew

*Haha g fN AR femm &=-smgef i o
oy 12

150 mm
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(c) For the beam shown in the figure below,
find the fixed moment at ends A and B,
using conjugate beam method. EI is
constant. 12

S50 kN 75 kN

] I v ¢

TR Summ——

(d) A gate of size 2mx1m can slide
without friction. It is held in place by a
thin cable which pulls it to the left due
to buoyancy on a balloon of diameter
D and of negligible weight. The gate just
opens when the level of water is as
shown in the figure below. Obtain D.
Where should the cable be attached so
that the gate slides smoothly (i.e.,

without rotation) inside the channel? 12
N
— D ‘
3m
Balloon
Cable
. Gate 2 x 1m
Pulley S 2m e 2m
ﬁ?mm
Water
| Channel
IRy

(e) An open circular cylindrical vessel
of 20 cm diameter and 80 cm height
contains water up to a height of 60 cm.
Find the maximum rotational speed of

C-DTN-J-DFA/38 4



(1)

(%)

4= fox A e v & fou sgew v fafu =
it A 3 B W smeg ot w@ X EI fAaa
2l

S0 kN 75 kN

4 v y ’

Aa(—am )](— 4 m )k—Sm—)E’B

2 m x 1 m & & w92 faq1 adur & 9 gFa
2| TUF! UF Uadl ol g Th SR 9T @l T
2, st T w7 w9 D =@ 9 TSR Wil
ICATIFHAT & SR 30 I AR diwar 81 FUR
sl godl 8, 5«9 gl %1 aa o # femm
TIER Era1 81 D T HL| FadA HEl AT ST
arfze, S & wure afegs & ey o= o5
(@ fr ool ¥ wi) ?

A4

N T

€— D>
3m
'ﬂﬁT{T
Fad @
g% FIZ 2mx 1 m

LI
N
3

. wmﬂhmm\

OO

(¥F) 20 cm =™ 9 80 cm F918 9 TH G

garR e ada 3 60 cm i S8 9% 9
2| Toevsht adq7 it 3uF 3w FwEfmw am W

) 5

12
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the cylindrical vessel about its vertical
axis so that no water spills. The vortex
flow developed in the circular vessel is
forced-type vortex. 12

(ff Find the coefficients in a cubic
polynomial representing velocity profile
for a boundary layer flow over a flat
plate held parallel to the stream. The
pressure inside the boundary layer is
impressed from outside boundary layer
and remains constant in the direction
of flow. Find the shear stress on the
plate in terms of free stream velocity,
boundary layer thickness & and
dynamic viscosity u. Cubic polynomial

§=¢:::+Jbr|+.c:1n2 +dn”

where a, b, c and d are coefficients and

n=—ys- and y—measured normal to the

plate. 12

2. (a) A bridge girder which is simply
supported, is traversed with a system
of loads as shown in the figure below.
Calculate the maximum shear force and
bending moment for the girder when the
loads are traversing. Assume the span

of the girder as 40 m. 20
@ @ ® @ ®
6 kN 6 kN 10 kN 10 kN 4 kN

e e i)
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stftrman ol =rer 39 =, ed o e T@)
gaER =wd4 # fasfaa gfe war woifka ufbe
uifa =1 2|

T 99 9gds d, s R dimea oa yare w1 oam
WEEA, U0 % guFal W@l TE 99w W
aardan 2, U WIa i | @ 9t o 3L |red
Hiad 9@ @ g orar @ S f ware #i e
for wwar 31 @iz I 3gEqvl gfaes ® g 91
31, dura 9ta it G2 § 3w nfas wEar uF
9l § J1d i | 99 9g9s

%=¢:1+bn+n::n2 +dn3

a8 a, b, chﬂWi%%ﬂWq:%qé
y AT T e 9T e 2

uF gEdtEa e gad | A e oA kel
JTER T YUTTell ShHvl HTdl 81 WRI & HHAvE
24 6 feufa d 7€ & foe siftreran stgwau 5@
AR A Il W@ W T i fagfa =
40 m HH |

® ® @

10 kN 10 kN 4kN

b—z 5 m—)k-—s m+3 m—$—z s m-—i
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3.

(b)

C

(@)

Determine the value of collapse load
for the continuous beam of constant
plastic moment capacity of 90 kN-m
shown in the figure below. Use
mechanism method.

P 1 SP -6_kN/m
r\r\aﬂéxfmc

P

[ -~

(i) If the velocity .components for
possible flow are given as

u= —"—‘h:::.x[.:::2 —3y2}
v = 41::&_1;(3.:&:2 - y2)

determine whether or not fluid
motion is possible. Obtain stream
function, y. Show whether the
flow is rotational or irrotational.
If irrotational, find velocity
potential, ®.

(ii) A trapezoidal channel with one side
vertical and the other sloping at two
horizontal to one vertical, carries a
discharge of 28 rn3/sec at a mean
velocity of 15 m/sec. Determine
the longitudinal slope and channel
dimensions for the best hydraulic
efficiency, if Manning’s n=0-014.

As shown in the figure, an I-section is
made using 3 wooden planks of dimen-
sions 150 mm x 10 mm to give a total
depth of 170 mm. The glue that is used

C-DTN-J-DFA/38 8
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(@) f= fax # @@ 90 kN-m # @R s
sl &l a1 Wad w6 foe Fama ww
aH s #t ) Efafy = e % 20

P P

P A S R

P 1-9P
A ¥ B
E2m! |2m1 i_sm_ﬂ I
6 m 6 m 6 m

(M) () T T gER & foe an wes Ry g @

u = —4ax(x? -3y?)

v= "-l»ay(&:c2 -y2]
@ ate Tt geya @ 4 @, fAfda w5t g
e  UTH i | TaT8 Joiicash & 41 STOIcHS,

feand | afe srguieas &, @ a0 fawa @ 3@
i 10

(ii) T oS FeAter 3R gEd afera, a1 afast @
UH SHAEEL, drell GHensl  anesl |
1-5 m/sec & 3Ga AT 28 m > /sec F
a1 aRAfmEIn=0-01428, @
gaan gt garar & fore 1geed ere 9 anfeat
<1 femmd sma L) 10

3. (%) fa= @ fRm@ @R 150 mm x 10 mm i
o arelt i @l F oasal S IUEI
uF [-QFE S T ¥ IR FA e
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to join the planks at the joint is having a
permissible shear stress of 1 N/mm?

after it

is cured. Check whether the

section is safe at the joint to withstand,
when it is used as a cantilever of span
1 m, due to a concentrated load of 1 kN
applied at the free end.

Glue:

10 mm——

Glue.

. -

- o>

LI T SEE T T T e

1'(——150'mm——)l

(b) () A model having a scale ratio of
1:10 is to be constructed to
determine the best design of Kaplan
turbine having power 7355 kW
under a net head of 10 m at a
speed of 100 r.p.m. If the net head
available at laboratory is 6 m and
the model efficiency is 88%, find—

(1)

(2)
(3)
(4)

C-DTN-J-DFA/38

the speed of the runner
required in the laboratory;

the output power of the model;
the specific speed in each case;
the discharge needed in the
model.

10
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170 mm 2| a&dl &l Siig W Sied & fog &
Tig H, @EEA & 9§, 49 JUE9U Ufdee
1 N/mm? 2| afg 92 @999 1 m fogfa &
g, Sad 1 kN =1 950 9w g it @ e
2, # g v ?, @ Sie w Igh gan A
A= H | _ 20

< — 170 mm

: IwmmJL

|<——150.mm——-)|

N T LT T - -

(@) (1) UusFwE @, 5Et 100 rop.m. Frae
9 10 m 32 3 87 & 7355 kW wifes gt
g, F GO R FAF TR TH 12 10
e Igara & faesl it g s ) a9l
warTITen ® A2 ¥ 6 m 3 el 25 88%

A 2, @ Fra w—

(1) SERTETE ¥ e & ATaaS J9id;
(2) Fest &t g ofss;
(3) v= f&ufa # ARt =,
(4) st § s=0 e 10

C-DTN-J-DFA/38 12 [ BT




(c)

(i) Two pipes each 100 m long and
diameters 50 mm and 100 mm
respectively, are arranged in
parallel between two reservoirs
which have difference of water
levels as 10 m. If friction factor for
each pipe is same as f =0-04,
calculate the rate of flow through
each pipe. Neglect minor losses.

fLV?

2gd

An overflow spillway as shown in the

figure below is S0 m high. At the design

head of 25 m over the spillway, find
the sequent depth and energy loss in
hydraulic jump formed on the
horizontal apron at the toe of the
spillway. Neglect energy loss over
the spillway. Assume coefficient of
discharge over the spillway, C; =0-74.

Find also the percentage of energy

loss occurred in hydraulic jump. Use

specific energy concept to find h;, the
supercritical depth of flow of hydraulic
jump.

formula.

USE hf =

Spillway

ha S

C-DTN-J-DFA/38 12
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I.

(i) 100 m == A gy, e =@ wHAw:
50 mm ¥ 100 mm %, 3 SawEl & o=
THFA &Y A o 8 | T & e Tl & |-
10 m 1 3t 2| 3f2 T arga & =y 7urek
THEAA f =0-04 8, dl & 4z | ¥aE &
SRR R EE TP

gd

TART | 10

(M = o3 # @ sgar = AfuyEr IcaE
50 m 971 8| 3™ & I 2-5 m & fE=13
I 9 I=amE F s F Afvs A | F97 9
Seireste 8 IIgadi Teud 9 Sl g Wa wi
ITATd T B arell HAl B T @ Iedd W
e Ui C,; =0- 74 AF & | Saesa |
TR grell S ' o gfawm st s &)
Serestd ¥ ware & fawf<s meug by, 3@
FA & foru fafldre =t deegar =1 w3 +:1) 20
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4.

(a)

(b)

(c)

() A straight bar 2 m long and
of 25 mm x5 mm cross-section is
compressed longitudinally until it
buckles. Assuming Euler’s formula
to apply to this case, estimate
the maximum central deflection
before the material passes a yield
point at 320 N/mm?. Take

E =200 kN/mm?2, assuming both
ends are hinged.

(i) If the bar is fixed at both ends,
calculate the Euler’s load.

In a structure, a beam is loaded with a
concentrated load of 100 kN acting at
3 m from one of the supports on a span
of 5 m. The beam may be assumed to
be simply supported. If the deflection
under the load is not to exceed 6 mm,
find the depth of the beam, assuming it
to be of rectangular cross-section.
Assume the width of the beam as

200 mm and E =200 kN/mm 2.

(J A run-of-river hydroelectric power
station is proposed across a river at
a site where net head available
is 20 m on turbine. The river
carries sustained minimum flow
of 30 m3/sec in dry weather and

C-DTN-J-DFA/38 14
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4.

(=)

(1)

(ii)

25 mm x 5 mm 9i=3g are! 2 m =l
el B =1 g faen # wedifsa e stran
2 5 a% {5 ag =ngiya 78 @ sidt 21 39
feufa & tiger g3 & @Hha1 g 9ES, 24
wova fag 1 320 N/mm? ®T o &= |
yga, Iftman F=a fada s =) 94 fEd
! A arel i of 9 E =200 kN/mm?

ol

Ife o aF Tl T 95 2, a9 ATgeR 9R
T L

(@) us @ 3, 5 m A gl a v@ 4 ™ 2=
¥ 3m At g 7 100 kN & U%F Hhf-ad ¥R
M R UE F PETeEa g 9| A’ R F
o f38g 6 mm @ ftes 9 |, @ g=@ =
gft=de AR A O3 6l TEUs J1d |

A & DS 200 mm 9 E =200 kN/mm

()

1

()

38 Ush T 9T, &I ZE@184 W 20 m F1 A2
I w2, uw A Sefagg oife 2IE
yEartaq 2 | 9t ® sAfatd =g=aa9 varg, 36 #g
#, 30 m>/sec F1 Fa1 2 3 wle VA
¥ 12 94T SAT9rIdr s 1S @ oad v
U = 70% F WY WE I=aH "I OH
YR ISAT 1 Gk | e & 55% Ad §C
QIEEEd 9 o (4 91 |97 &t aAftaan

15

20

C-DTN-J-DFA/38 15 [ P.T.O.




behind the power station, sufficient
pondage is provided to supply daily
peak load of demand with a load
factor of 70%. Assuming the plant
efficiency of 55%, determine the
maximum generating capacity of
the generator to be installed at the
powerhouse. If the daily load
pattern indicates 21 hours of
average load and 3 hours of peak
load, determine the volume of
pondage to be provided to supply
daily demand.

(i) At a proposed hydroelectric station,
the available head is 80 m and it is
estimated that 36000 litres per
second of water is available
throughout the year for operating
turbines. The turbines are to run at
500 r.p.m. and the overall efficiency
1s 85%. The specific speed of the
turbines is nearly 180. Determine
the maximum available power and
the number of turbines required.

C-DTN-J-DFA/38 16




IS SHaT JTa B | Ffe S W ¥ Faran
2 5 aftag wr 21 wo2 =1 30 3 g F
F=3au 9R, o 2F= gt ¥ yem & fow wng
S ATt eIl ¥ Ead H 9 B 12

(i) T SEATT STefagd ¥¥H W ur ¥ 80 m
2 3 =g 7o i 7 @ R R W agA = e
¥ f&w 36000 &fiet ot ufd dFve i A
YT T | ZXEgAT il 500 r.p.m. W IAHET
ST 2 3R 39 gHT g&ar 85% &1 @Ml
&1 fafdre = =y 180 21 3tfusran ar=
3tk 9 TTavde® ZLETEAT S G J1d | 8
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Section—B

5. Attempt any five of the following :

(a) In a laboratory test for a mix design, the
coarse aggregates and fine aggregates
are sieved and weight retained on each
sieve are given in the table. Find the
fineness modulus for each :

IS Sieve | Weight retained | Weight retained
in kg for coarse| in gm for fine
aggregates aggregates

2-1 -
29 -
1-45 —
2:35 20
1-00

o

Ol N[oao|lu|hsr|lwW|N

10

In a powerhouse to replace a circular
penstock of 1-2 m diameter is made out
of 12 mm thick plate, lapping it and
securing it by traverse fillet welds of
10 mm size, provided on the inside and
the outside as shown in the figure. What

C-DTN-J-DFA/38 18




aus—da

5. fafafaad @ ediara & s 2 -

(%) uH wamEmen wae § e feegm & fag a9
e 9 s faae # am sar 2 3R &
St W &6 gu e w1 e e arfoem &

A & 21 & U F1 gawar g9 91d w1 12
Fw | IS sl | ¥ gu 512 fAena |3 gu ani® e
\ q&=T &I F91 kg g T T84 gm b 1
1 40 21 -
2 20 2:9 -
3 10 1-45 ~
4 4-75 2:55 20
3 2:36 1-00 100
6 1-18 ~ 100
T 600 u - 190
8 300 p - 350 .
9 150 p ~ 240
| FeT 10 1000

(@) U 9aER3E H UF garhn Ui &, foEe
H 12m 8, 92d4 & feau, 12 mm =&
e, 9g[E a gida, J@n e acs 4, o
aEst 10 mm 2, B sar 81 98 S8 =t 3
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safe internal pressure can be allowed in
the penstock? Assume the permissible
stress in weld as 110 MPa. 12

Fillet weld 10 mm

12 mm thick

06 m p?

(c) A pretensioned concrete beam 100 mm
wide and 300 mm deep is prestressed
by a steel wire carrying an initial force of
200 kN at an eccentricity of 45 mm.
If E( and E. are 210 kN/mm? and
35 kN/mm 2 respectively, estimate the
percentage loss of stress in steel due to
elastic deformation. Assume the area of
steel is 200 mm~. 12

(d) (1) Compute the void ratio of sand
in the loosest possible state,
considering it to be made up of
equal diameter spherical particles. 5

(ii) A clayey soil with specific gravity of
2:-70, has natural moisture content
of 16 percent at 70 percent degree
of saturation. What will be its water
content if after soaking, the degree
of saturation becomes 90 percent? 7

C-DTN-J-DFA/38 20



T BT R e T g, o e sigeEm
Yqeeis g g an-alts q™ 91 H| des

F 371939 ufaset 110 MPa & auait = | 12
l fsetiz 9e2 10 mm
@@x&*
12 mm Hi&
. 0-6 m P2

(1) 100 mm =@ 3 300 mm Tet Ydaid
FeFle = H Eufastea R =1 2 399a aw
¥, i 200 kN 1 wRf& @@ 45 mm
# Iekmar W o 21 Ak E, R E, FEWM
210 kN/mm? 3t 35 kN/mm? %, @
TRy fgEgn ¥ FRe 3@E A uftew @
gfeera & 1@ i1 W@ H &F%a 200 mm 2
= = 12

(9) (i) UHEHE A" 9T el o | §4 @ @ fo,
gaities et annfaa e |, fife srgua
T ATHAT A | 5

(i) 2-70 % Mfés v arelt ghowma ga 4
70% Gqft 319 T yrpfas ey 16% 2|
If foreea & 12 36 921 1 HgiW 377 90% &
FraT 8, @ Fard 3@l Senw ERan g 7
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(e}

(a)

The coefficient of consolidation (C,) of a
clay was found to be 0-955 mm? /min.
The final consolidation settlement
for a 5 m thick layer of this clay was
calculated as 280 mm. Assuming a
uniform  initial excess pore-water
pressure distribution and permeable
layer to be present both above and
below the clay layer, compute the
settlement time for—

(i) 90 percent primary consolidation
(take T, = 0-848 for U = 90%);

(ii) settlement of 100 mm.

A 5 m high smooth retaining wall
with vertical face retains a cohesive
backfill having unconfined compressive
strength of 30 kN/m?, y =18 kKN/m?3

and ¢, =0° Calculate the depth of
tension crack and the total active earth
pressure, assuming the tension crack
has fully developed. The backfill surface
is horizontal.

A circular steel pipe of 150 mm and
10 mm thick is welded to a rectangular
plate of 12 mm thick by fillet weld
around the pipe. A vertical load of 10 kN
is acting on the pipe at a distance
of 400 mm from the weld in the
longitudinal direction and 30C mm from
the centre of the pipe transversely.
Design the weld.

C-DTN-J-DFA/38 22
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(¥) U= gives =1 997 o0 (C,), 0-955 mm?/
min 9T T 21 39 gfast it 5 m HE wa &
forg, gof dg=9 fA9ga #1 280 mm & sUET #
ApeE R T 21 gE & onive ySa I
faaor = uwEnE 9 gfve 9@ & 3w 3 =
TR T @, UET AEd g Fuea sma e %
fore amere i - 12
(i) 90% wafis a1 (U=90% & fou

T, = 0-848 )
(i) 100 mm =1 A

(¥) uw= Fwiw g8 arfl 5 m H FGFh gfous
dar giuemy gygwE @& Owdl 2, S
y=18 kKN/m?>, ¢, =0° 3R smfag grdiea
gmzd 30 kN/m? 2| @ s gt a@ @
fawfta 8 7% ® wHd gu, @9 S A e =
F GiFT ga1 e §id w) gBWUE Fil Has
afas 2 12

6. (F) 10 mm #HI2 § 150 mm ¥ 91 TF FATHR
FEITd 9139 &I UF 12 mm HIE AhaER i 8
qizd & I/ 3R fhole Jes =& SrST ™ 2
10 kN =1 % FHE 97, d¢s ¥ 400 mm
#i1 gt w g fawn § 9 ugw ¥ uuy | gy
e # 300 mm T W, 9rE9 W @ B | S8 w0
fesmza =) 20
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(b)

(c)

(a)

A lounge in an office building is circular
in plan, supported on four columns and
connected by circumferential beams
at top connecting the columns. The
diameter of circumferential beam is 6 m.
Design a suitable slab for the above
system, taking 5 kN/m? as the super-
imposed load. Adopt M 20 grade
concrete and Fe 415 grade steel.

() State the limitations of plate load
test used for finding the bearing
capacity of soil.

(ii) A circular footing of 3 m diameter
has to carry a gross load of
4500 kN. The foundation soil is
clayey sand having C=8 kN/m?2,
¢ =30° and y =20 kN/m?3. Find the
depth at which the footing should
be placed for factor of safety of 2-5.
For ¢ =30°—

N =30-1, N, =18-4, N, =22-4

Design a suitable single lacing for the
column whose cross-section is shown in
the figure. The slenderness ratio for the
column is 24. Use 65 mm x 15 mm plate
for lacing. Axial load on the column is
1750 kN. For the column section

Tex =146-3 mm

Tyy =40-3 mm

C-DTN-J-DFA/38 24
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(@) T* wEied waq d faam-we agfady ¥ ga=n

(1)

T 9 IR wiadtl 9 e 31 A 9N wiew et «w
U it a9 8 92 ™ 2 uitdig uE w1 =JE
6m 2l 5 kKN/m? =1 3gifda wR &=t
9P Barare, I dgGfa & fore, fEsmga =+t
M 20 Ug &k 9 Fe 415 U8 3@ &1 TG00
L

(i) T2 T RO GHAT Fd FA O we 9R
gitegor &t gfefand = 87

(ii) TH 3 m AT el guThi 97 S 4500 kN
% el WR 1 Tg H1 2 | Hid gar giwswma @
2, e Cc=8 kN/m?2, ¢=30° 3ix
¥ =20 kN/m?> 21 2-5 % guan= & fog ae
! fera-t Teus 9 waEr s =fEe?

¢ =30° % fere—
Ng=30-1, N, =18-4, N, =22-4

oz # fead ™ sIgy-+re 9 Fiaw & fao
39gh Thdl a-49a Ha1a &1 fEsiga +L) Fia &1

qgal AU 24 Bl FEF F foT 65 mm %
15 mm T2 & ITANT HL| HieH T FET 91

= 1750 kN 2| &ie™ gi=de & feu
e =146-3 mimn

Tyy =40-3 mm

20

15
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For lacing plate

e ol i el ey e s, i e

€200 mm->

L Oc
r (MPa)
100 84
110 1953
120 67-1
130 59-7
. Laci
_1-__£.../___1.(_n_ng 50 mm
N
=

- B R ———

"\// ISWB 350 @ 599 N/m

_____ - e = =l -

€200 mm->

N
|

300 mm

100 mm

(b) @

100 mm

A group of concrete bored piles is
square in plan and consists of four
piles, each 10 m long and 500 mm
in diameter. The piles are installed
at a spacing of 1 m c to c in a deep
clay deposit having an unconfined
compressive strength of 60 kamz.
At the tip of the pile and below, the
undrained shear strength of the

clay C, =40 kN/m?. The average

unit weight of the soil and concrete
are 185 kN/m®> and 225 kN/m?
respectively. Estimate the total
ultimate bearing load of the piles
group. Take mobilisation factor
equal to 0-5.

C-DTN-J-DFA/38 26
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(@) (i) <HshIZ A9 IS F U GHE AfaEd 7 71 2
g4 500 mm HE 9 9 10 m o=
IR 9i3d @ g1 Ifag ardiesa wmed
60 kN /m 2 =it medt giten fAag & 3 arga
1 m &l c¥dc gl AT T 2| ggei hi
It W T I@F A gt 1 sgata
srgequr gmed C, =40 kN/m*? 81 gar 4
b2 & 3Ed Ui YR HAT: 185 KN/m >
3R 225 kN/m*? §| 95a I &1 a1 93
HROT ¥ T i | @929 o6 0-5 & | 16
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(ii) Classify the piles with respect to
their use.

(c) () Find the ratio of horizontal
permeability to vertical permeability
for a soil deposit consisting of three
layers. The second layer has the
permeability ten times that of the
first layer and the thickness half
that of the first layer. The third
layer has thickness twice that of the
first layer and permeability twice
that of the second layer.

An excavation has to be made in a
10 m deep clay stratum underlain
by a bed of sand. In a trial borehole
made, the groundwater was found
to rise to an elevation of 35 m
below GL. What is the safe depth
of excavation without its bottom
becoming unstable due to uplift
pressure of groundwater? If the
excavation has to be made safely
up to a depth of 8 m, what is the
depth up to which water table
should be lowered in the vicinity
of the trench? Take specific gravity
of clay as 2:7 and void ratio of clay
as 0-7.

In a multistoreyed building, it is
proposed to provide a rectangular
column of size 400 mm x 600 mm
reinforced with 6 numbers of 25 mm ¢
bars. Use M 25 grade concrete and
Fe 415 grade steel. Find the ultimate
concentric load capacity of the column.
What will be the ultimate load capacity
when e_;,# 005 lateral dimension?
Design the lateral ties also. 20
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(ii) aTFAT T ITATT % Gad # afietor L) 4

(M (@) @ wa A o= oow ga e F o afs
QIOTETT T FEATHL IR | 39§
i | gEd T il ITOTIdT 9Eel 9id | &9 T
2 9 Igeh Hierd vaelt 9a | It 2 | et T
1 WIS ggel! Td | g @ 9 qromgar gat
9| | gt R 10

4 (ii) T gar$ 10 m Ted givw e F i I 2
T F ad H i@ 2| T fhu e wg au oz |
Wiasier 3-5 m, GL & 19, 93 siar 8 | gard
&+t gran meag, o W 3gE a9 eee &
IeAT9 19 &6 HIOT AR T B, F= Bfi?
afz 8 m & TEE 9% gfE@ w9 F GI13
HET B, a1 Y Siea & @18 & 9 o
fraft mead 9w A e =f@e? giae
& fou mifés =@ = 27 3R fifws
39| = 0-7 | 10

8. (%) U wgdciid WA # 400 mm x 600 mm
AR 1 TH AFGAHR Hiew, S 25 mm ¢
#1 I8 el 4 ydferd 2, enmn wEarfad 81 M 25
g &z 3 Fe 415 A8 3@ 1 940 HT |
HicTH &l Tzl 9 IR GHar Id i | 981 91
gaar ¥ g, afe e, #0-05 wd fam &7
gl a3 T o fesga =t 20
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(b) A prestressed concrete beam of section
250 mm wide by 400 mm deep is used
over an effective span of 7-5 m to
support an imposed load of 4 kN/m.
The unit weight of concrete is
25 kN/m>. At the centre of the span,
find the magnitude of—

(i) the concentric prestressing force
necessary for zero fibre stress at the
soffit when the beam is fully loaded;

(i) the eccentric prestressing force
located at 140 mm from the soffit
of the beam which will nullify
the bottem fibre stresses due to
loading.

What do we obtain from a
consolidation test? List the
parameters we obtain. Describe
how one can use these parameters
in the design.

In a consolidation test, a specimen
whose void ratio was 1-068
under effective pressure of
214 kN/m? changed to 0-994
when  effective pressure was
increased to 429 kN/m?. Compute
the coefficient of compressibility,
compression index and coefficient
of volume compressibility.
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(@) 250 mm =€ x 400 mm TE] gAUfaaferd
Fhie g it yurEt fagfa 75 m 2 3K 3=
4 kN/m & AWfUa 97 *l 981 = & oo @
2| FhIZ T THH YR 25 kKN/m 3 2

faegfa & mew 31—

(1)

(i)

(11)

()

(ii)

i 9T QUiadT WId 8, Y WIge Sfdas
AY-Tad W EA F o syavgs 9= 9d-
yfdaes o 6t |5 94 B

AT % HROT g% del 9T ol Higa Siaerell i I
4 F o 9@ & Ivw@a @ 140 mm i
Tl T Ich=ah qadfdact del ol JT=1 F1d & |

A gliegor | g1 941 WIW Bl 87 gie, S
& 9TH Ba 8, Ik gt wand ) fewga 4
qrEel 1 399 HE R s @, vl #51)

a4 giteqor § us i, e s s,
214 kN/m? & w9t g9 ®, 1-068 1,
TuTEt 219 & 429 kN/m? W sgr @ fifts
A 0-994 T Sal 2| gEdtsTanr une,
qrfies ga&is 9 JAFaq GedtSsrar Tons &1
HTHe i

20
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fafee s=hfAad
T -TF—I
g - i "o quif& : 300
TIa9T
y# v fa<t 3k 37 gl 7 war 21

vl & 3¢ 3H "Aregm | for@d s =iz, forasr 3ga
393 YaAw-93 7 fFar 7y 8, 33Kk 39 mregmw w1 wE
3gE IW-J&iF F JE-9§ T 3ifaha [Afas v v fFar
STET SifeT| NEW-9F W 3fgfaa aregm F fafs 3=
fadt qream F for@ 7o 39 9T FIE 3% &7 At

gy GEqr 1 3R 5 fFard &) sl 9wt 4 @ 9%
GUE § FH-B-FH UH Y97 GAHC (gl diT el &
3 G|

el 999 F fore f3aa 3% 97 & 3ra 7 2w 713 &)
Hahd /v=gTacil F=icia 3191 4 9g 8, 3397 f[HfdE &1
Ifz F& 3iwe 39Fig gdia &, a1 3T g7 @F wfia
FT dfore 37 371 ([A3E Fifso)

qfs 3ravas &, a 1 fFeitgz7 (1 kN) = 100 kg &
TR 9T =24 Fi fFermg § ufafda fFar sim gwar 21

Note : English version of the Instructions is
printed on the front cover of this
question paper.




